
Check These Out! 
 

• Identify the inverse calculation for each of these.  
• They have been presented horizontally so that the working out is not easily identifiable. 
• Which calculations have been worked out incorrectly? 
• What should the correct answers be? 

 
Calculation Inverse check Corrected calculation 

3672 + 2369 = 6031 

 
 
 
 
 
 

 

256.4 + 367.2 = 613.6 

 
 
 
 
 
 

 

843 – 484 = 361 

 
 
 
 
 
 

 

8422 – 4567 = 3855 

 
 
 
 
 
 

 

346 + 725 + 315 = 1286 

  
 
 
 
 
 

86.4 – 48.7 = 38.7 
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